NAME: Date: Grade:

(From Grade Calculation on last page)

Course:

. Written Exercise 9: &5

Translate the foIIowing Greek text into correct English (93 answers):

n smcro?m n ano tod IMovlov nxesv TPOG TOV ’AvSpévucov 0c &v 1t Poun ﬁv &V owTh 0 (’métokog ﬁpéaro
5wwowsw T0G omrou Kouqag uew w)v IovSaw)v avTISIK®V Ol npyaCowo toug smdmcoug ¢ Nolatiog. rco Av8povu<03 0
Homkog Eypayey on ou)tog e npog avtovg tovg Naratog: Oavualm 0Tt oVTOg TaxEn petatidesde amo Tod Oeod €1g
a‘cspov suowyahov 0 0K GAAOV £0TL

Og 0~ Av3povikog v smcsroknv aveyve, N Tovvia euev: OvtoL OL stéo&&xcmakm topaccovror tag I aMMK(‘xg
SKKM‘[GlOLg, Nat, Dnskast 0 Av5povu<og, Kot avtot Boukovrou uswctpswou 70 goayyehov 1o Xpiotod. Ovk avtot
TPOTEPOV 01 CDaplcsouot ncow emev N Tovvie. Noi, kot €11 avtol ov Beglovowy cuvomayeshol Tl avBponolg ot
aKpoPLOTIL E1GT. OLTOL 8E O1 KOKOL EPYOTOL OV PETEXOVGL TM EVAYYEA® TOD XPL6TOD.

< Parse the following words according to the appropriate model (62 answers):
N emiotoAn; (7 answers): 1 - Nom (Subj) - F - S - emiotoln, 1 -
M amo tov ITaviov (7 answers): Proper Name - Abla (Source) - M - S - - from Paul
n\Oev (8 answers): 2 Aor ( )-Act-Ind-3-S - gpyouon - it came

npog tov’ Avdpovikov (7 answers): Proper Name - Acc (Ref/Measure) - M - S - " Avdpovikog, O -

oG (13 answers): Rel Pron - Nom (Subj) - M - S - og, 0, 0 - introducing dependent
clause -

gv 1 Poun (7 answers): Geog Name - Loc (Place) - F - S - - in Rome

nv (7 answers): Imperf ( )-Ind -3-S-¢&yi- he was

gv avtn/> (10 answers): Pers Pron - Loc ( )-F-S-avtog, M, -0 - in it

0 amotohog (7 answers): 2 - Nom (Subj) - M - S - andotorog, 6 —the apostle

npEotar (8 answers): 1 Aor (Const) - Mid ( )-Ind - 3-S - apyouar - he began
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dlovoryewy (8 answers): ( ) - - Infin ( : ) - -

avtod (10 answers): Pers Pron - Gen ( )-M -8 - avtog, -, -0 — his
106...koKog (7 answers): 1 - Acc ( ) - F - P - xoxo, 1 - his troubles, difficulties
ueta TOV...ovudikev (7 answers): 2 - Gen ( ) - M - P - dvtidikog, 0 —with his (Jewish) opponents

@V’ Tovdaiwv (10 answers): Proper Adj (Attrib) - Gen - M - P -"Tovddiog, -0, -ov —(with his)

o1 (10 answers): Rel Pron - Nom ( )-M - P -0¢ 1, 0 - introducting Relative Adjectival dependent
clause - who

npyalovto (8 answers): Imperf (Desc) - - Ind - 3 - P - gpyalopat - they were working
tdig exkkinoaug (7 answers): 1 - Loc (Place) - F - P - exk\noto, 1 - infamong the churches

¢ Folatiog (7 answers): Geog Name - Gen (Place) - F - S - T'alatio, 1 - of Galatia

10 " Avdpovikw/ (7 answers): Proper Name - Dat (Indir Obj) - M - S -’ Avdpovikog, 0 - to Andronicus
o0 [Tadrog (7 answers): Proper Name - Nom (Subj) - M - S - TIadAog, 0 - Paul

gypayev (8 answers): 1 Aor (Const) - Act - Ind - 3 - S - ypagw - he wrote

ot (4 answers): Subordinate conjunction introducing Conjunctory dependent clause -

avtog (10 answers): Pers Pron - Nom (Subj) - M - S - avtog, -1, -0 — he
gute (answers): 2 Aor (Culm) - Act - Ind - 3 - S - A¢yo - he had said

npoc...tovg Farazag (7 answers): Proper Name - Acc (Ref/Measure) - M - P - T'olamg, o0 - to the Galatians
(themselves)

avtoug (10 answers): Pron - Acc - M - P - abtog, -1, -0 —themselves
Oavpalo (8 answers): Pres (Desc) - Act-Ind - 1 - S - Bavpalo - | marvel, am amazed

o1t (4 answers): Subordinate conjunction introducing Conjunctory Substantival Object depdenent clause -
that

ovtwg Tayemc: Adverb of time/manner - so quickly

uetatifeche (9 answers): Pres (Desc) - Mid ( )-Ind-2-P - - you (yourselves) are
turning away from

aro Tov Oeov (7 answers): 2 - Abla (Sep) - M - S - 6gog, 0 - away from God

e1c...evayyehov (7 answers): 2 - Acc (Measure) - N - S - gvayyehov, 10 - into another gospel
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gtepov (9 answers): Adj ( ) - Acc - N - S - gtepog, -a, -ov - another, different

0 (13 answers): Rel Pron - Nom (Subj) - N - S - og, 1, 0 - introducing Relative Adjectival dependent clause -
which

arov (9 answers): Adj (Pred) - Nom - N - S - a\og, -n, -ov - another
ovk goti (7 answers): Pres (Desc) - Ind - 3 - S - gyi- it is not

o¢ (4 answers): Subordinate conjunction introducing Conjunctory Temporal dependent clause

0" Avdpovikog (7 answers): Proper Name - Nom (Subj) - M - S - Avdpovikoc, 6 - Andronicus
mv emotoAny (7 answers): 1 - Acc ( ) - F - S - emotoln, 1 - the letter

aveyvo (8 answers): 2 Aor ( )-Act-Ind-3-S - avaywvooko - he had read

N "Tovvia (7 answers): Proper Name - Nom (Subj) - F - S - "Touvig, 1 - Junia

eutev (8 answers): 2 Aor (Const) - Act - Ind - 3 - S - Aéyo - she said

Ovtot (9 answers): Pron - Nom - M - P - ovtog, adtn, TodT0 -

ot yevdodidackarot (7 answers): 2 - Nom (Subj) - M - P - - (these) false teachers
tapaccovtol (10 answers): Pres (Desc) - Mid ( ) - Ind (Interrog) - 3 - P - topacocw - are they
stirring up

tac Falhkag (9 answers): Proper Adj ( ) - Acc - F - P - TaAlkog, -1, -ov —the Galatian

exkAnotag (7 answers): 1 - Acc ( ) - F - P - &xidnota, 1 - the (Galatian) churches

Nou;: particle of affirmation - yes

vrelofev (8 answers): 2 Aor (Const) - Act - Ind - 3 - S - vrohapBave —

0’ Avdpovikog (7 answers): Proper Name - Nom (Subj) - M - S -" Avdpovikog, 6 - Andronicus

Koi (1 answer): Coordinate conjunction linking two independent clauses in the direct discourse

avtot (10 answers): Pron - Nom (Subj) - M - P - avtog, -n, -0 - they

Bovrovtai (8 answers): Pres (Desc) - Dep -Ind-3-P - -

uetaotpeyat (8 answers): 1 Aor (Const) - Act - Infin (S: ) - netootpem - to change, alter
70 evoryyehov (answers): 2 - Acc ( ) - N - S - edayyghov, 10 - the gospel
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100 Xpiotod (7 answers): 2 - Gen (Ref/Poss) - M - S - Xpiotog, 0 —about/of Christ
Ovk: negative adverb introducing interrogative sentence, expecting positive response - not
avtot (10 answers): Pers Pron - Nom ( ) - M - P - awtog, -, -0 - they

npotepov (1 answer): Adverb of time - formerly, earlier

o1 ®opiodiot (7 answers): Proper Name - Nom ( )-M - P - ®apisdiog, 0 - Pharisees
noav (8 answers): Imperf (Desc) - Ind ( ) - 3 - P - eyn - Are they not
gutev (8 answers): 2 Aor ( )-Act-Ind-3-S-Ayo—

N Tovvia (answers): Proper Name - Nom (Subj) - F - S -"Tovvia, 1 - Junia

Nou;: particle of affirmation - yes

kot; (1 answer): coordinate conjunction linking two independent clauses in direct discourse - and
¢tt (1 answer): Adverb of time - still, yet

avtot; (10 answers): Pers Pron - Nom (Subj) - M - P - avtog, -1, -0 - they

ov Belovoy (8 answers): Pres (Desc) - Act - Ind- 3 - P - felo -

ovvomayeobor (9 answers): Pres (Desc) - Mid ( ) - Infin (S: Obj) - ovvandyo -
101¢ avOpwroig (7 answers): 2 - Ins ( ) - M - P - avBpomog, 0 - with the men

o1 (13 answers): Rel Pron - Nom (Subj) - M - P - o¢, 1}, 0 - introducing Adjectival dependent
clause -

akpoPuotia (@answers): 1 - Nom ( ) - F - S - axpoPvotia, 1 - uncircumcised

o1 (7 answers): Pres (Desc) - Ind - 3 - P - eyuw- they are
ovtot (9 answers): Pron - Nom - M - P - ovtog, abt, Todto -

d¢ (1 answer): postpositive coordinate introducing independent clause adding a slightly contrastive idea to
previous independent clause - and, but

ot kaxot; (9 answers): Adj (Attrib) - Nom - M - P - xaxog, -n, -ov - (these) evil
gpyatot (7 answers): 1 - Nom (Subj) - M - P - gpyatng, 0 —workers

ov peteyovot (8 answers): Pres (Desc) - Act - Ind - 3 - P - peteyw - they do not share, have a part in

Page 4 of 7



10 gvayyelw/ (7 answers): 2 - Loc (Sphere) - N - S - evayyeliov, 10 - in the gospel

100 Xpiotod (answers): 2 - Gen (Ref/Poss) - M - S - Xpiotog, 0 - about/of Christ

+»*Conjugate the following verbs according to the appropriate model (14 answers):

Present - Middle - Indicative Forms of apyw (7 answers):
Person:  Singular Plural Infinitive

Present - Middle - Indicative Forms of petatibnuu (7 answers):
Person:  Singular Plural Infinitive

3

3Decline the following nouns and noun derivatives according to the appropriate model (18 answers):

Intensive Pronoun avtog, -1, -0 (18 answers):

Case: Masculine Feminine Neuter
Singular:

Nom

Gen/Abla

Dat/Ins/Loc

Acc

Plural:

Nom

Gen/Abla

Dative

Accusative
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2ABlock diagram the above text according to the guidelines (8 answers):

(A) 1 émorody . . . NAGsv

1 &mo tod [Tovdov  mpog Tov’ AvEpovikov

0c &v T Popm nv.

&v avth

(B) 0 amoroloc npéaro Savoiysty tag avTod Kaklag

peto t@v Tovdolmv aviidikmv
01 NPYaLovTo Toig EKKANCOILS
&v 0 alatig.

() 0 Avdpovike o Ilabrog Eypayev

Q)

011 010G Eute TPOG Tovg oo
Oavualo
0Tl 0VTOG TaYEWG peToTifec0e
amno Tob Hgod
€1 ETEPOV EVLAYYEMOV.

0g 0° AvBpOVIKOG TNV ETIGTOAV AVEYV®,

(A) n’lovvia simev:

(@)
A3)

Ovrot o1 yevdodidackalot tapaccovral tag I elidikag ExkAnoiag_

Nay,

(E) vmélaPev o’ Avdpoviko, Ko

“4)

(6))

avrot Bovlovial uETacTPEYaL TO EVAYYEAMOV
00 Xp1oTOo.

Ovk avrot Ipotepov ot Papicaiol noav;

(Z) simev 1) lovvia.

(H) (vrérafev 0 Avdpovikog)

(6)

)

®)

Nai,
Kol
&1l
avtot ov Ogdovoty cvvanayeolar toic avlpadmoig
o1 00 axpoPuoTtia. €161

de
0VTO1 01 KAKOL £PYATOL OV UETEYOVOL
10 £0ayyeM® T0D Xp1oToD.

Questions to answer:

1.

Describe the literary nature of each of and connection between the two paragraphs of the narrative (4

answer value):
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2. Describe in detail the nature of the issue in the letter that prompts the discussion betwen Andronicus

and Junia (4 answer value):

********************GRADE CALCULATION********************

Number of Errors

Missed accents and breathing marks
= 1/4 error per word

Times

Total Pts.

Missed

0

.50

Total Pts.

Minus Pts.
Missed

100.00

Grade

(Please record grade at top of page 1)
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